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Show all work for full credit, use correct notation, and clearly mark your answer.

In each problem, use ILT actuarial assumptions to determine

(a) the expected present value of the insurance described

(b) the variance of the present value random variable of the insurance described
Each part of each problem is worth 10 points.

1. al-year discrete endowment insurance of 100,000 issued to (50)
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2. a 2-year term discrete insurance issued to (40), with a benefit of 1000 if death
occurs in the first year, and 2000 if death occurs in the second year.
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3. a10-year deferred, 20-year term insurance issued to (25}, with a benefit of 100 paid
at the end of the year of death if (25) dies between ages 35 and 55.
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4. a whole-life insurance issued to independent lives, both age 35, with benefit of 100
payable at the end of the year of the second death.
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5. a 10-year term insurance issued to independent lives, ages 30 and 40, with benefit
of 500 payable at the end of the year of the first death.
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